
ALGEBRA I B      Name ______________________________ 

UNIT 6 OBJECTIVE 2     Period ________  Date ________________ 

Determine the solution to each linear system by graphing. 

1.  �� = 2� − 4� = −� + 5     2.  
 � = �� = 3� − 6 

  

Solution: ________     Solution: ________ 

3.  � � = 2� = −2� + 8     2.  � � = �� � − 6� = − �� � + 7 

  

Solution: ________     Solution: ________ 
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5.  
� = 0� = 3      6.  �� = 3� − 9� = − �� �  

  

 

Solution: ________     Solution: ________ 

 

7.  �� = �� � − 4� = 2�      8.  �� = �� � − 5� = �� � − 1 

  

 

Solution: ________     Solution: ________ 
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Solve each system by graphing.  Be sure to change the equation to slope-intercept before graphing. 

9.  �−2� + � = 1� + � = 4  

 

 

Solution: ________ 

 

10.  � 2� + � = 0� + 2� = −6 

 

 

Solution: ________ 
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11.  �3� + 2� = −63� − 2� = −6 

 

 

Solution: ________ 

 

12.  �2� + � = 7� + � = 3  

 

 

Solution: ________ 
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